
Sample test questions: 
Multiple choices: (Only one answer is correct. Please choose the best answer you think.) 

1. A ball is thrown vertically upward from the surface of the earth. Consider the 
following quantities: 1) the speed of the ball 2) the velocity of theball 3) the 
acceleration of the ball. Which of these is (are) zero when the ball has reached the 
maximum height? 

(a) 1 only 
(b) 2 only 
(c) 1 and 2 
(d) 1 and 3 
(e) 1, 2 and 3 

 
2. Which one of the following would give the correct number of significant figures 

when the following physical quantities are multiplied together: 3.6m/s and 214 s? 
(a) 770.4m. 
(b) 770.0m. 
(c) 7.7m. 
(d) 7.7*102m 
(e) 7.7*102m/s. 

 
Comprehensive questions: 

 

 

 
 



Answer:  
1. C  
2. D Note that A and B has wrong significant figures. C has wrong number 

(order of magnitude), and E has wrong units. 
 
 
Brief Solution: 
1.  

 
 
2. 

 
 
 


